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ETOW-compute: #seed towers ET>4.20 GeV / event

Entries 5337325

ETOW-decision: acc cluster ET>5.50 GeV

8 E Mean  0.5114

= E

=}

o)

o RMS  0.1076

> 6

1O bt
r'|'i1'r1'|'i'|'|'|'r'i'r1'rl'i'1'|'|'|'i1'r1'ri'l'1'|'|'i'r1'r1'i'1'|'r'|'i'|'r1'r

0O 10 20 30 40 50 60 70 80 90 100

X: # ETOW towers

o
\‘

Entries 5378337

}_’,1 Mean 0.5186
c
3
o RMS 0.1364
= 6
10" BT
5
KO AR SLELEEEI SLELELE LELEL SELEL SRS
4
(O AR SLELEEEE SLELELE (RLEL SEEL UL
3
10 .....................................................................

T e o s e
1 'i1'r1'|'i'r|'|'r'i'r1'r1'i'1'|'|'|'i1'r1'ri'r1'|'|'i'r1'r1'i'|'|'|'|'i'|'r1'r
0 5 10 15 20 25 30 35 40 45 50

x:cluster ET(GeV)

ETOW-decision: any cluster

Entries

7| Mean

10* ,
RMS

41248

8.833

2.752

10

10

0 5 10 15 20 25 3
x: ET(GeV)

0

ETOW: Seed Tower Rank Entries 58780
105:— -------------- T Mean 1511
E RMS 0.114
10" - - S Ses S s s
103:_ ..................................................... :. .............
102:_ .................................................. . .............
10 (R - e SRS SR S
1 virbvvit vl et ety

0 2 4 6 8 10

12 14 16 18 20




[ ETOW: Seed Tower Quadrant Entries 40911

Mean 1.588
RMS 1.087

4.5 I 5
[ ETOW: Cluster Et Sum GeV | Entries 40911
) Mean 8.843
10 2.756
10°

=
o
N

=
o

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

=

ETOW: # non-zero towers per cluster Entries 58780

Mean 3.099
0.8906

10*

10

102

.........................

10

0 0.5

Mon May 29 01:32:55 2017




